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BACHELOR OF SCIENCE (GENERAL) 
(BSCG) 

Term-End Examination  
December, 2024 

BGYCT–135 : PETROLOGY 

 Time : 2 Hours    Maximum Marks : 50 

Note : All questions are compulsory. Marks allotted 

for each question are indicated against it. 

Draw well-labelled diagrams, wherever 

required.  

1. Briefly answer any five of the following 
questions :  5×2=10 

 (a) Define rock. 

 (b) What are extrusive igneous rocks ? 

 (c) What are clastic rocks ? 

 (d) List the causes of metamorphism. 

 (e) What is lithification ? 
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 (f) Differentiate between crystallite and 
 microlite. 

 (g) Distinguish between essential and 
 accessory minerals. 

2.  Write short notes on any four of the following : 

4×5=20 

(a) Phase rule 

(b) Importance of Bowen’s reaction series 

(c) Mineralogy and texture of granite in hand- 
specimen 

(d) Types of sediment load. 

(e) Schistose texture 

(f) Limestone 

3. Answer any one of the following questions : 

 1×10=10 

 (a) Elaborately discuss the classification of 

sedimentary rocks based on chemical and 
mineralogical composition. 
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 (b) Describe in detail the classification of 
igneous rocks based on chemical 
composition. 

4. (a) Explain the four components of clastic 
texture. 5 

 (b) Give an account of uses of rocks. 5 

Or 

 (a) Discuss briefly the megascopic and 
microscopic characters of basalt. 5 

 (b) What is magma ? Add a note on the 
physical properties of magma. 5 
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foKku Lukrd (lkekU;) 

(ch-,l&lh-th-) 

l=kkar ijh{kk 

fnlEcj] 2024 

ch-th-okbZ-lh-Vh-–135 % 'kSy foKku 

le; % 2 ?k.Vs     vf/dre vad % 50 

uk sV % lHkh iz'u vfuok;Z gSaA izR;sd iz'u ds vad mlds 

lkeus fn;s x;s gSaA tgk¡ vko';d gks] lqukekafdr 

vkjs[k cukb,A   

1- fuEufyf[kr esa ls fdUgha Ikk¡p iz'uksa ds mÙkj la{ksi esa 

nhft, %   5×2=10 

 (d) 'kSy dks ifjHkkf"kr dhft,A 

 ([k) cfgosZ/h vkXus; 'kSy D;k gSa \ 

 (x) [k.Mt 'kSy D;k gSa \ 
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 (?k) dk;karj.k ds dkj.kksa dh lwph cukb,A 

 (Ä) f'kyhHkou D;k gS \ 

 (p) fØLVyk.kq vkSj ekbØksykbV esa foHksn dhft,A 

 (N) vfuok;Z rFkk xkS.k [kfutksa esa varj Li"V 

 dhft,A 

2- fuEufyf[kr esa ls fdUgha pkj ij laf{kIr fVIif.k;k¡ 

fyf[k, %   4×5=20 

 (d) izkoLFkk fu;e 

 ([k) ckWosu vfHkfØ;k  Üka`[kyk dk egRo 

 (x) gLruewuksa esa xzsukbV dk [kfut la?kVu ,oa xBu 

 (?k) volkn Hkkj ds izdkj 

 (Ä) f'k"VkHkh xBu 

 (p) pwuk'e 
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3- fuEufyf[kr esa ls fdlh ,d iz'u dk mÙkj nhft, % 

 1×10=10 

 (d) jklk;fud rFkk [kfutdh; la?kVu ds vk/kj ij 

 volknh 'kSyksa ds oxhZdj.k dh foLrkjiwoZd 

 ppkZ dhft,A 

 ([k) jklk;fud la?kVu ds vk/kj ij vkXus; 'kSyksa ds 

 oxhZdj.k dh foLrkjiwoZd ppkZ dhft,A 

4- (d) [k.Mt xBu ds pkj ?kVdksa dks le>kb,A 5 

 ([k) 'kSyksa dh mi;ksfxrk dk fooj.k nhft,A 5 

vFkok 

 (d) cslkYV ds lw{en'khZ vkSj LFkwyn'khZ y{k.kksa dk 

 laf{kIr esa o.kZu dhft,A 5 

 ([k) eSXek D;k gS \ eSXek ds HkkSfrd xq.kksa ij 

 fVIi.kh fyf[k,A 5 

 × × × × × × ×  
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